| 1

1A
.04/50x50|A

/

1

1
.02/50x50

25.00+.10

I | I

LT}
.02/50x50

//1.14]A

| |@.0M|A
*DOWEL PIN NOTE 1

2.99
¢2.97

4 |@.1|A|B|C
| |2.00|A

*DOWEL PIN NOTE 1

2X

2.99
9397

2.1/ABIC M5x0.8 - 6H

| |@.0@|A v15.0
*DOWEL PIN NOTE 1 Ress

2X

M3x0.5 - 6H

¥9.0

4 |@.1|AlB|C

22X —
2.99
¢2.97
©|@.1|A|B|C

M2.5x0.45 - 6H

v8.0

4 |@.1|A|B|C
2X

2X

2.99
%397

©|2.1|A

C

| 2.0

A

@.1|A[B|C *DOWEL PIN NOTE 1

M5x0.8 - 6H
Vv15.0

%]

(775.00)

GENERAL NOTES:

. SPECIFICATIONS HERE APPLY UNLESS STATED OTHERWISE

. MATERIAL: 6061-T651 ALUMINUM OR MIC6 TOOLING PLATE

. SURFACE FINISH: ANODIZED BLACK (MIL-A-8625, TYPE II, CLASS 2)

. UNITS: MILLIMETERS

. GENERAL TOLERANCE OF 0.2MM APPLIES AS PROFILE OF A SURFACE
FEATURE CONTROL TO SURFACES SPECIFIED IN ATTACHED CAD
MODEL, EXCLUDING HOLE AND THREAD DEPTH. GENERAL TOLERANCE
FOR HOLE AND THREAD DEPTH IS 0.3MM. GENERAL TOLERANCES
APPLY UNLESS OTHERWISE SPECIFIED.

. SURFACE ROUGHNESS (RA): 1.6 um

. LINEAR TOLERANCE: X.X + 0.5MM, X.XX % 0.1MM

. ANGULAR TOLERANCE: X # 2°, X.X % 0.5°, X.XX % 0.1°

. ANGULAR TOLERANCE OF 0.05° ON ALL IMPLIED SQUARE FEATURES

10. INTERPRET DIMENSIONS AND TOLERANCES PER ASME Y14.5M-1994
11. DEBUR AND BREAK ALL SHARP EDGES, MAX 0.2 MM
4X 12. PARTS ARE TO BE CLEAN AND FREE OF OIL AND OTHER CONTAMINANTS
M4x0.7 - 6H 13. DIMENSIONS AND THREADED HOLE CLASS OF FIT APPLY AFTER
: CHEMICALLY APPLIED FINISHES IF APPLICABLE
v12.0 14, THREADED HOLES MUST NOT BE USED FOR ANODIZATION RACKING

guaphWN -

O 00N

4 |@.1|AB|C

4

2X M4x0.7 - 6H ¥12.0

1 02/50%50
/ 1 |.02Ja

.06

2X
/M6x1 - 6H

v18.0
©|@.1|AB|C

2.99
¢2.97

6X
M3x0.5 - 6H (o) (o) \0 /0 (o) (o) (o) (o) (o) (o) (o) (o) (o) (o) g"_ (o) (o)
¥v9.0 o o
DOWEL PIN NOTE 1:
N BIC o 2X M4x0.7 - 6H ¥12.0 o INSTALL CUSTOMER SUPPLIED VENTED @3MM M6
_+_ 2% 12MM LONG STAINLESS STEEL DOWEL PIN INTO
e o &@.1]AlBlc o / 599 EACH SPECIFIED HOLE. DOWEL PIN MUST PROTRUDE
. _+_ / _+_ . 3239 OUT 4-5MM FROM SURFACE.
o A 8X o @ |@.1|AB|C
Méx1 - 6H Méx1 - 6H M4x0.7 - 6H > | |p.o@]a
¥18.0 o Zﬁosc ¥12.0 o *DOWEL PIN NOTE 1
@.1|A[B|C o : '$'®.1ABC o
o X <~ o
¢2.99 6X
o 2.97 o M6x1 - 6H 92X
299 o e | T . / ¥18.0 $2.99
: 2.97
W | Lb.0@) + + R S ATE
@_0@ A *DOWEL PIN '
o NOTE 1 | [5.0@|A
*DOWEL PIN NOTE 1 \ *DOWEL PIN NOTE 1
P

T &]2.1|ABlC
o ¥+KM4xo.7 - 6H ¥12.0
M3x0.5 - 6H
@.1]ABlC
4 |@.1|AlB|C @
M4x0.7 - 6H ¥12.0

(o]
©
4X o 4 |@.1|AB|C
M2x0.4 - 6H 4|@.1|A|B|C | |@.0M|A
¥8.0 : *DOWEL PIN NOTE 1
&l@.1]AlBlc ° o
@304 o <
3.01 o o
&1 C 4 O O 0 0o o0 o o o¥Yo o O\ L.12|AlBIC
L 3.04 | |.01]A
3.01 o
A\.1[AlB B 2X 2X
C 2.97 $2.99 2X M6x1 - 6H 2X
| |@.0@A S 1ABIC 2.97 7299 18.0 M4x0.7 - 6H
" | [z.0@|a ENRIe Q}QIIZBC FERIIELS v12.0
440 UNC - 2B THRU *DOWEL PINNOTE1  |-L12.0@A T oo ©|0.1/ABIC
*DOWEL PIN NOTE 1 ' OSU - IB DRAWN DATE
B|C *DOWEL PIN NOTE 1 James Strother 9/21/2017
Baseplate
6_ SIZE SCALE REV SHEET
C |13 1 1 OF 2
7 | 3 4& | 1




